In]c{eX}cm Paimls [ :Answerr

j-—- ax4+ bx3+ 182:2
da - bax’+ 3bx* + 36x

)

0’ = IQa;rz-f-ébx + 4 = O a/ mf/ex/m
a’x pomts

Now [ @/\/71) s ﬁivm as _/hf/eX/bn /70/30/L

L d% = [Qa(l)'f' 6[)(:) +36 =0

dx?

da +b+ 6 =0
AED
b Now 2a+b+6 =0 — (1)
Find o second egn. with a and b .

B We  know O’“) lies on fthe curve .
. Sub =l _info  egn of wre

i

”=20()+b()+18() e

Solve (1) + @O = b--624 (P

L@

|

| = a —b—-2a + |8
A = |
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b (%)
b = "6—2(1)
b= —§

A/\/W_'

 Now need fo find obher joflechon poinr.
| d% = lax*+ Gbx +36 =0 af
dx* ,

/’/f/z’/\’ 100
/Doirle

120)x" + 6(8)x +36 =0
12x" = 4&x +36 =0
=1, x> —lbx +3 =0
@c—3)Cx—l) = O

echher or
x=3 = :;7’
A/ | (L u)
j = (l)xq.—f-(-S)Ig +18% A
Y= 6)G)-8(G) + 18@)  Civen
- 216 + 162 |

= 8l
UJ = 21
Tglechion /)aim[ £z, 2’1)

) Now sPs dy = 4()x’+3¢8)x" +3bx = O
Tj; , _ a/"ﬁSﬁg
¢ hr’- xt+3bx =0
x'—6x*+9% =0
x (x™—6x+9) =0
x (2-3)(x-3) = 0O
ox =0 or = = 3 },qf-]c;f{ij;
+ V_ o e
(0,9 A



Now fla,{‘we Of ( 0,0)

J 4 = [dx- &K +36
= - 4 LOC L.
C{ Y = 36
x =0 F}




